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BignoBiab:



BignoBiab:



X' =-2+4=2
y'=4-1=3

X=-2,y =4, Toq|

OT1xe, C' = (2;
3) BianoBigb:



D A ABC - AA'B'D’

LA - LA 4B - 2B, 2D - 2D’
B AB — A'B’
LA =2A" = 20° 4B = 2B’ = 20°
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¢D = ¢£D" = 180° — (20° + 20°) = 140°
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2 ) X:X1+X2 Nt
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BignoBiab: X=5,



M(-4;-5)— M'(4;5)
N(-2;3)— N'(2;-3)

Bignosiab: M'(4;5),N’(2;-3)




Ockinbkn Toukn A i B
CUMETPUYHI AlX; y) = A(x; -y)
BIAHOCHO OCi abcuuc, To

OTxe,X=-2,y=
-4

BignoBiab: x=-2,
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M(3;-5)— N(1;-4) 1=34+a, Ja=-2,
—4 = =5 + b;

a | b cniBnagaloTb, OTXKe, NaparnenbHe NepeHeCeHHS
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